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Puzzle Test Questions for IBPS PO Pre, RRB Scale I Pre, SBI PO Pre, 
Syndicate Bank PO, Canara Bank PO, SBI Clerk Mains and IBPS Clerk 
Mains Exams. 

Set No 131 
 

Directions: Study the following information carefully and answer the questions given beside: 
 

There are 6 persons Anita, Bibha, Chandan, Deepak, Esha and Firoz, working in a same company. They belong 
to different places Lucknow, Kanpur, Varanasi, Pune, Agra and Ranchi but not in the same order. Each of them 
have different salaries (in Rupees) 20000, 21000, 22000, 26000, 27000 and 28000, but not in the same order. 
  

The person, who is from Agra, gets 22000. 
  

Firoz gets the highest salary but he is not from Ranchi. 
  

Esha is from Lucknow. 
  

The person, who is from Kanpur, gets 26000. 
  

Deepak is neither from Agra nor from Kanpur. 
  

Neither Deepak nor Firoz is from Varanasi. 
  

The person, whose salary is lowest, is neither from Lucknow nor from Varanasi. 
  

Anita is neither from Agra nor Varanasi. 
  

The salary of Chandan is more than Esha’s salary and Chandan is not from Agra. 
 
 

1.  Who among the following persons is from Pune? 

A. Bibha  B. Anita  C. Deepak  D. Chandan  E. None of the above 
 

2.  What is the salary of the person, who is from Varanasi? 

A. 20000  B. 21000  C. 27000  D. 28000  E. None of the above 
 

3.  Which among the following places does Bibha belong to? 

A. Deepak  B. Agra   C. Firoz   D. Chandan  E. None of the above 
 

4.  What is the sum of the salary of Deepak and Chandan? 

A. 50000  B. 47000  C. 46000  D. 42000  E. 55000 
 

5.  Which among the following statements is correctly matched? 

A. Bibha - Pune B. Ranchi - 27000 C. Anita - 26000 D. Esha - Ranchi E. Chandan – 20000 



 

 

Correct Answers: 

1 2 3 4 5 

E C B B C 

 

 
Common explanation: 
  
Reference: 
  
The person, who is from Agra, gets 22000. 
  
Firoz gets the highest salary but he is not from Ranchi. 
  
Esha is from Lucknow. 
  
Inference: 
Using the above information we can draw the following table: 
  

Persons Places Salaries 

  Agra 22000 

Firoz Not Ranchi 28000(highest 

Esha Lucknow   

  
Reference: 
The person, who is from Kanpur, get 26000. 
  
Deepak is neither from Agra nor from Kanpur. 
  
Neither Deepak nor Firoz is from Varanasi. 
  
Inference: 
Using the above information we can redraw the following table: 
  

Persons Places Salaries 

  Agra 22000 

Firoz 
Not Ranchi 

Not Varanasi 
28000 

Esha Lucknow   

  Kanpur 26000 

Deepak Not Varanasi   

  Varanasi   

  
Reference: 
The person, whose salary is lowest, is neither from Lucknow nor from Varanasi. 



 

 

Anita is neither from Agra nor Varanasi. 
  
The salary of Chandan is more than Esha’s salary and Chandan is not from Agra. 
  
Inference: 
Using the above information we finally get the following table: 
  

Persons Places Salaries 

Bibha Agra 22000 

Firoz Pune 28000 

Esha Lucknow 21000 

Anita Kanpur 26000 

Deepak Ranchi 20000 

Chandan Varanasi 27000 

 

Answers : 
 

1. Following the final solution table, we can say that Firoz is from Pune. 
 

Hence, the correct answer is option E. 
 
 

2.   Following the final solution table, we can say that Chandan is from Varanasi and his salary is 27000. 
 

Hence, the correct answer is option C. 
 
 

3.  Following the final solution table, we can say that Bibha belongs to Agra. 
 

Hence, the correct answer is option B. 
 
 

4.   Following the final solution table, we can say that Deepak’s salary is 20000 and Chandan’s salary is 
27000, so the sum of salary of Deepak and Chandan is 

 

(20000 + 27000) = 47000. 
 

Hence, the correct answer is option B. 
 
 

5.  Following the final solution table, we can say Anita has 26000 salary. 
 

Hence, the correct answer is option C. 



 

 

 

https://testzone.smartkeeda.com/Test/Pricing

